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Immediately; it is Kosher — w> INHRY

Overview
The R cites a 73wn which states that if a 1°%W lost a v3 and he found it immediately;
the v3 is w>. Our M0 explains that this rule is valid even according to " 2x.
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Even according to a8 who is concerned for two people with the name of prxs,

even if it was not established that there are two people named prx>, nevertheless -
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By a v, which was found 2nbX>, even »ax is not concerned, for there (in the case
of two prw) it is like a case of 17219 21, for there, 20X is not applicable.

Summary
The concern that there may be other people with the same name, is neutralized if

there is ample evidence that it must belong to the original person (as in a case where
the v was found Tn7K?).

Thinking it over
MvoIN answer seems so obvious; why was it necessary for N1901n to explain it to us?!

! The case there is where there was a person called Xm?23 w1 prx>, who left his city (called X21™7) to the city of
R9n0K, where he died. The people of X'»d0X, who did not really know this prix® well (they only knew his name prx>
XM23 w1 and his origin [X21077]), informed the people of X210 that kM3 w1 prys from X2w1p died. *ax ruled that
even though we do not know that there were two Xn123 w1 P> in R2Wp, nevertheless there is that concern that there
may be another 80123 w1 pry> from X1WMp (so his wife cannot remarry, or they cannot divide his estate, etc.). The
apparent question is why there are we wwn for prx> »n, but not here by a v3?

2 In the case of the lost v3, it is virtually impossible that this v is from another couple with the same names, since it
was found 20282, so the other person could not have come in this short duration; however there (by Xm: w» pry),
even if he died immediately upon his arrival to X»50K that does not preclude that he is another XM w1 prx> (for we
do not know which prx> died) . The proof that 9n9&> provides here (that it must be the same v3), is impractical there.
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